Microeconomics 341Q – Matthew Baker

Practice Problems 4.5 – Market equilibrium
I.
Finding a short run competitive equilibrium 
Consider an industry within which there are currently 20 firms, each producing according to the cost function 
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1. Find and graph the firm’s marginal and average cost curves. 

2. Find the firm’s supply function (i. e., given any price, how much does the firm produce to maximize profits?)

3. Find the market supply function. 

4. Suppose demand is given by: 
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. Equate market demand and supply to find the price of the product. 

5. How much output does each firm then produce in equilibrium? 

6. Would you expect that in the long run, there would be entry or exit into this industry? Explain.

II.      Finding a short run competitive equilibrium

Our goal now is to describe the industry above in the long run. 

1. In the long run, given the cost function 
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, what will be the quantity that each firm produces, and what will be the price of the product?

2. At the price you found in 1), what will be the quantity demanded?

3. Given the quantity demanded you found in 2, and the price and quantity supplied by each firm described in 1), how many firms are there in the industry in the long run?

III.
Comparing competition and monopoly (short run)
Consider a monopolist that produces according to the cost function given by: 
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. Suppose further that the demand function for the product is described by: 
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1. Find the monopolist’s marginal revenue function and marginal cost function.

2. Find the monopolist’s profit maximizing price and output combination.

3. Suppose instead that the firm behaved competitively. What would its output and price be? (Remember how you can use the marginal cost function as a supply function)

4. What is then the deadweight loss due to monopoly? 
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